



Nom: _____

Date: _____ Note: _____

$$(-8)^{(-2)} - 3 =$$

$$(-8)^{(-1)} - (-2) =$$

$$9^2 - 4 =$$

$$7^{(-2)} - (-1) =$$

$$(-9)^2 - 9 =$$

$$2^2 - 10 =$$

$$(-3)^{(-2)} - (-6) =$$

$$(-5) - (-6) =$$

$$(-10)^{(-2)} + (-2) =$$

$$3^{(-2)} - (-4) =$$

$$(-8)^{(-2)} - (-3) =$$

$$10 - 7 =$$

$$(-8)^{(-2)} + 1 =$$

$$6^{(-1)} - 5 =$$

$$(-10)^{(-1)} - 1 =$$

$$1^2 - (-3) =$$

$$(-2)^2 - (-6) =$$

$$(-1)^2 - 5 =$$

$$9^{(-2)} - 6 =$$

$$3^{(-1)} + 4 =$$



Nom: _____

Date: _____ Note: _____

$$(-8)^{(-2)} - 3 = \left(-\frac{191}{64}\right) = \left(-2\frac{63}{64}\right)$$

$$(-8)^{(-1)} - (-2) = \frac{15}{8} = 1\frac{7}{8}$$

$$9^2 - 4 = 77$$

$$7^{(-2)} - (-1) = \frac{50}{49} = 1\frac{1}{49}$$

$$(-9)^2 - 9 = 72$$

$$2^2 - 10 = (-6)$$

$$(-3)^{(-2)} - (-6) = \frac{55}{9} = 6\frac{1}{9}$$

$$(-5) - (-6) = 1$$

$$(-10)^{(-2)} + (-2) = \left(-\frac{199}{100}\right) = \left(-1\frac{99}{100}\right)$$

$$3^{(-2)} - (-4) = \frac{37}{9} = 4\frac{1}{9}$$

$$(-8)^{(-2)} - (-3) = \frac{193}{64} = 3\frac{1}{64}$$

$$10 - 7 = 3$$

$$(-8)^{(-2)} + 1 = \frac{65}{64} = 1\frac{1}{64}$$

$$6^{(-1)} - 5 = \left(-\frac{29}{6}\right) = \left(-4\frac{5}{6}\right)$$

$$(-10)^{(-1)} - 1 = \left(-\frac{11}{10}\right) = \left(-1\frac{1}{10}\right)$$

$$1^2 - (-3) = 4$$

$$(-2)^2 - (-6) = 10$$

$$(-1)^2 - 5 = (-4)$$

$$9^{(-2)} - 6 = \left(-\frac{485}{81}\right) = \left(-5\frac{80}{81}\right)$$

$$3^{(-1)} + 4 = \frac{13}{3} = 4\frac{1}{3}$$